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XY Lid. has three production departs

nents A,
are esthima

ied as follows:

B and C and two service depanments Dgays
And '

Manufacturing expenses for the next year

i' .l e

| Rent, rates and taxes | 4,200 | Plant Repairs || T

[ Depreciation | 16500 | Plants msurance

II Lighting 1,900 | Fringe benefits ll ' ]|
[ Supervidion 7,500 | Canteen expenses 4,500 |
If Power 2,700 |

Further information relating to the departments is given below

II Arca (Sq. It) G0 R00 T4 I| 400 ‘l '.'if!ll{l'lI

f Value of plant (Tk.) [.00,000 | 1,40,000 200,000 I| I[ - _I|I
Il-.h'n ol u.'rnr_llraj.uu:u. : [ 16 20 I| f || 'E._\
|[ Horse power hours 10,000 | 20400 8.000 1 - 'l - ]I
II' Mo. of Points s F 12 | _I:'1 I‘¢_.| 4 ]I ?1'
| Wages (Tk.) 20,000 30,000 40,000 | 4000 | 6,000
|[ Indirect material (Tk.) 320 250 360 | 05 l o0 1

Expenses of department D are to be distributed first on the basis of area and of department E on the basis

number of emplovees. Prepare the departmental distribution summan,

| Service department works for production department. So, the cost of producti
HELPLINE department is indirect cost for production department,

Indirect material is an indirect cost and it is oive
department wise so it will be transfer direct|y

nin further information. As it is gn




